Division of Polynomials
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In the polynomial:

Degree 
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Eg 1: 
Given the quadratic 
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 is a factor. 
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Eg 2: 
Divide 
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The degree of the quotient is 
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. The coefficient of 
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Compare:

	
[image: image39.wmf]3

x


	
[image: image40.wmf]2

)

2

(

x

A

-

+


	
[image: image41.wmf]x

A

B

)

2

(

-

+


	
[image: image42.wmf]B

2

-



	
[image: image43.wmf]3

x


	
[image: image44.wmf]2

0

x

+


	
[image: image45.wmf]x

5

-


	
[image: image46.wmf]2

+





[image: image47.wmf]2

0

)

2

(

=

Þ

=

-

A

A



[image: image48.wmf]1

2

2

-

=

Þ

=

-

B

B


But some divisions have remainders…
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